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Exercise 2.1

Question 1:

sin '[——]
Find the principal value of 2

Answer

ER—
Let sin® L 2 Then sin y = 2 6 6

We know that the range of the principal value branch of sin~tis

SEEN
22 and sin 6 2

sin | —
Therefore, the principal value of

Question 2:

LA =Y
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e

cos 'l
Find the principal value of
Answer

Let cos”’ [é] = y. Then, cosy = ? = cos[%).

We know that the range of the principal value branch of cos™ is

[0.x] and cos [g]= % |

Therefore, the principal value of

Question 3:
Find the principal value of cosec™ (2)

Answer

n
cosec y=2= cnsec(—],
Let cosec™t (2) = y. Then, 6

We know that the range of the principal value branch of cosec™ is |:
A . &t
cosec ' (2) is <

Therefore, the principal value of

Question 4:

tan”’ (—v@}

Find the principal value of

Answer

n n
Let tan '(—ﬁ)=}=. Then, tan y = —/3 = —1;gmE = tan[_g}

We know that the range of the principal value branch of tan™? is

(—gg] and tan[—g] is —v/3.

Therefore, the principal value of

tan '(\E) 15 —%.

Question 5:

()
Cos ——
(= T AT S S S PO 2
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Cind e principdl vaide ol

Answer

Let cos ' {—lJ = y. Then, cosy = B _WS(E) - cus[u _ E] _ CGS(E]_
2 2 3 3 3

We know that the range of the principal value branch of cos™ is

[0, ] and cos [2—1:] = -I—.
3 2
2n

cos '(——] is
Therefore, the principal value of 2 3

Question 6:
Find the principal value of tan™ (—1)

Answer

tan y = —1 =—tan[%] - lan[—%].
Let tan™t (—=1) = y. Then,
1

We know that the range of the principal value branch of tan™ is
nn i

(——,—] and tan[——] =-1.
22 =

-1 . n
tan”' (=1) is ==,
Therefore, the principal value of 4

Question 7:

]

2 )
Let sec™ (;] =y. Then, secy=-—— =3ec[§].

NE] NE]

We know that the range of the principal value branch of sec™ is

e {fmn(3)- 3

&

sec '[
Find the principal value of

Answer

n

2 ) .

=1

sec [— 15 —.
Therefore, the principal value of “E 6

Question 8:

cot™ (ﬁ)

Find the principal value of

Answer

il =Y » ~ I{?I\l

Free Pdf Download from Exxamm.com




Let cot ~ l\\-‘jJ =y. lhen, col y=+/3 = CGI:LEJ.

We know that the range of the principal value branch of cot™ is (0,n) and

cot(%)= V3.
cot '(JE] is

n
.

Therefore, the principal value of

Question 9:

. I ]
1

cos [——
Find the principal value of “E

Answer

In

: 1 1 T T
Let cos™'| ——= | = y. Then, cos y = ——= = —Cos —] = L‘DS(TT——J =cus[—).
[ 2 J * TR (4 4 4

We know that the range of the principal value branch of cos™ is [0,n] and
COS[EJ __ 1
4 V2

I J . 3n

— | 18 —.

cos '[—
o 2 4
Therefore, the principal value of =

Question 10:

cosec '(-\E)

Find the principal value of

Answer

Let cosec I(—\E) = . Then, cosecy = —2 = —cmcc{z]=cm(— z]

We know that the range of the principal value branch of cosec™ is

[_E,E} —{0} and COSE‘C[—E]=_J§.

2 2

cosec ' (—‘5] is —g.

Therefore, the principal value of

Question 11:

tan ' (1)+cos 1[-l]+sin '[-l]
Find the value of 2 2

Answer

Lettan™'(1)=x. Then, tanx=1=tan I

mw
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san ()=

Let cos™ . = y. Then, cosy=—l =~ 08 n)=cos u—“chos(zn .
2 2 3 3 3
. Then. 5in:=—1=—sin(n]=sin{—n].
2 i} 6

|y
a
=B
=
L
|
b | o=
S
I
i

_n. 2n %
4 3 6
_dn+8n-2n 91 3n
12 12 4

Question 12:

(3)2(3)
cos | — [+ 2sin"' | —
Find the value of 2 2

Answer
Let cos™ (%) = x. Then, cosx = % = cns(%).
s [ L)%
R Y
Let sin '(%] = y. Then, siny=%=sin(g].
sin 1 _r
h 2) 6
1 . afl mn 2n m m 2n
.. COs (-]+25m (—J=—+—=_+_=_
2 2 3 6 3 3 3

Question 13:

Find the value of if sin™! x = y, then

_E‘C‘J{_E
(A) {}S_VS?C(B) 27 2
D
© 0<r<m@) 2 2

Answer
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It is given that sin™! x = y.

We know that the range of the principal value branch of sin™!is

272

_E irlrgE
Therefore, 2 2
Question 14:

- -

Find the value of tan Jg—sec {_z}is equal to

. X 2n
(A)n(B) 3(c) ¥(p)

Answer

Let tan '3 = x. Then, tanx=+/3 =tan1;.

We know that the range of the principal value branch of tan ™' is [%%J

stan'3=2
3

2n

Let sec™ (-2) = y. Then, secy:—Z:—sec[g]=sec(1‘r—:)=sec 3

We know that the range of the principal value branch of sec™ is [{J.R ]—{%}

-1 2“
ssec (=2)=—
(-2)=7

n 2r|:= n

Hence, tan ' (ﬁ)—sec" (-2)= 37373

Exercise 2.2

Question 1:

3sin ' x=sin ' (3x—4x"), J.‘E|i—l ]]

Prove 2 2
Answer
. -1 . 3 1 1
3sin x =sin (3.:—43:'), Xe|—, —
. 2 2
To prove:

Let x = sin@. Then, sin” x=46.

We have,
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AHS - sin ' (3x—4x")=sin ' (3sin@ - 4sin" )

=sin ' (sin38)
= 36
=3sin" x

= L.H.S.

Question 2:

a I
3cos ' x =cos 1(-rl.wr" —31), xe[—, I]
Prove 2
Answer
. |
3cos ' x =cos '(41“ —3x), xe |:—., l]
To prove: 2
Let x = cosB. Then, cos™! x =6.

We have,
R.H.S.=cos™ (4x" - 3x)
=cos ' (4cos’ #-3cos8)
=cos ' (cos36)
=36

=3cos 'x
=L.H.S.

Question 3:

tan '£+tan ll=t:im 'l
Prove I 24 2
Answer
tan'l£+tan'1—=tan"l
To prove: 11 24 2
L.H.S. = tan '£+tan 1
11 24
2 7
* xX+vy
=T.an"—“,J 24 tan 'x+tan 'y =tan ' —=
1— = . U 1-xy
11 24
48+ 77
_ L 1x24
12414
11x24
o
=tan”' 48+77 =tan"£=lan"l=R.H.S.

Free Pdf Download from Exxamm.com




264-14 250 2

Question 4:

me"l+lam‘ll=tam|"ﬂ
Prove 2 7 17
Answer
21&11"l+taﬂ"l=tm'|"E
To prove: 2 7 17
LHS.= 2tan” ~+ tan" -
2 7
1
2.—
= tan ' 2 ~+tan ' — [Etan"x:tan' 21’2}
-(3)
2
p— | o1
=tan” —+tan"' =
E) 7
4
:lan'liﬂsm"l
3 7
4 1
175 X+y
ctant 3T [mmm_]
]_i.l 1-xy
37

Question 5:

Write the function in the simplest form:

VI+x' -1
tan ' —————, x#0
X

Answer

an” VI+x° =1

x
Putx=tand = @ =tan ' x

m_lm_.(m-q

. PO, |

.'.tﬁn_l
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X ll\ an o )]

Question 6:
Write the function in the simplest form:
1

tan ' . =>1
Vil =1 XI

Answer

tan ' ! x| >1

v'.rz—l,
1

Put x = cosec @ = 8 = cosec™ ™ Xx

| |
= tan

1
¥ -1 Jeosec’d -1
=mn'[ | ]=Hm'{mn€}
coLé

cotan”

=/ = C05eC X—E—SEC X CoseC X +5eC I-E

Question 7:

Write the function in the simplest form:

an"! l—cosx e
l+cosx |

Answer
7
| [1—cosx
tan JX<TH
L |+L(}5IJ
4 *
g (1—cosx
tan
L l+cosx
F
s'nx
1
X
=tan”’ 2 |=tan '[tan—)
x 2
COS
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Question 8:

Write the function in the simplest form:

([ cosx—sinx
tan | —————— |, O<x<m

COsSX+S8Iinx
Answer
an l[msx—sinx]
COsSX+SIinx
"I_sinx
= tan™ Cos X
sinx
1+
. COSX
:hm_."'l—lanxJ
W+ tan x
x—y
=tan' (1)~ tan™" (tan x) tan”' % — tan~' x - tan™" ¥
1—xy
T
=——X
4

Question 9:

Write the function in the simplest form:

X
tan N h |x| =<
a —x
Answer
-1 X
tan
2 2
a —XxX

Putx=asind == =sin@ = 0 =sin"' (E]
a a

 an”! asiné ]

x -1
= tan
va' —x° [v"az —a’sin’ @
—Ian"[ asin@ ]_wn_1(asin9]
av1-sin’ @ acosd

=tan” (tan@) = O=sin"' =
a

Question 10:
Write the function in the simplest form:
M 3ax-x) R a
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an LmJ, a>u, ﬁixﬂﬁ

Answer

k] 2
a —3ax

()

X X
Putx=atanfd = = =tanf =@ =tan™' =
i o

tan-! 3a’x-x* — tan™! 3a’ atan@-a’ tan’ @
a —3a-a’ tan’ 0

a -3ax’

—tan-! 3g tanf - g’ tan’ 0
a —3a'tan’ 0
_ 3
=tﬂn_l 3‘3"3 tﬁn 5
1-3tan" &
=tan"'(tan 36)

Question 11:
tan"[2¢03[251n"l]]
Find the value of -

Answer

Question 12:

cot(tan 'a+cot'a
Find the value of ( )

Answer
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-::-crt(tz’n.n'I a+cot™' ar)

T -1 -1
=mt{;) [tan X+cot x=

=0

| A
| I

Question 13:

1 . 2x -y
tana[sm'l :+cus'l _] x<l,y>0andxy<l
Find the value of *x +)y
Answer

Let x = tan A. Then, 8 = tan™" x
. 2x . .( 2tan @

S.sin = sin -
: I+tan” &

)=sin '(sin 20) =26 = 2tan 'x
I+x

Let y = tan @. Then, @ = tan"' y

1- 1-tan’
-cos! 3"’_ I-tan”g | _ "(cos2¢)=2¢=2tan"' y
1+ v 1+ tan’ ¢-
1. ., 2x 1=y
. tan—| sin +cos
2 1+ x* 1+)

—tanz[Ztan x+2tan y]

an|tan”' x4+ tan™' y:|
[}

-]
=w[w(:‘f:;ﬂ

t
x4y

I—xy
Question 14:

sin[sin" l+ms" x] =1
If 3 , then find the value of x.

Answer
sin[sin" l+«:;+|35" x] =1
. —
— sin(sin" l]t:c}!«}(m:m;"' r)+f.‘,crs{s,in‘l 1] sin(cns" x) =1
5 5

[sin(A+B)=sin Acos B+cos Asin B |
= 1>< X +cos[sin" 1]sirn[ccres'l .'c) =1

5 5

X (-_11\-." -1 Y . FEY
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=>§+cn5L5|n 'EJSIH[CDS xX)=1 A1)

Now. let sin 1%:}{

: 2
Then, siny=é=>cosy= I—[lJ =ﬁ=>y=cos"[

5

~sin” L = cos™ [%] -(2)

5 5

Let cos ' x=z.

Then, cosz=x=sinz=vy1-x = z=sin ](-u'l—r!)_
s.cos ¥ =sin 1(\"1—x1) (3)
From (1), (2), and (3) we have:

ocos{ s 248 sin{sin i) -1
_x 2fvr—

= X+ ZJE l-x" =5

= 2J6/1-x" =5-x

On squaring both sides, we get:
(4)(6)(1-x")=25+x"~10x
= 24-24x" =25+x" —10x

= 25" —10x+1=0

=(5x-1)" =0
=(5x-1)=0
1
= x=-
5

I
Hence, the value of x is 5

Question 15:
4 x=1 L x+In
tan”' ——+tan”’ =—
If x=2 X+2 4 then find the value of x.
Answer
mn"r -1 tﬂ_.r1|r+l=z
x—2 x+2 4

[.\'

R r

. 'l'-l-'l,—l

[
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F

= tan"’ A"L ATL = — tan”' x+tan"' y=tan™’
1—\}

LEE
. :{x— 1)(x+2)+(x+ I](.\:—E)]: x
h{.r+ 2)(x=2)—(x-1)(x+1)| 4

gl =2+ -x-2| =
= tan - - =
X =4-x"+1 4

= tan™' 20 -4
I -3

E

4

oy [ L 4- 2x]
an tan

4
]

T
4

3
= 4-2x"=3
=2y =4-3=1
]

V2

=y =+

1
T,
Hence, the value of x is 35

Question 16:

. .[ . 2::)
51N Sin—
Find the values of 3

Answer

. .( . 2![]
sin s5INn—
3
53]
X e
We know that sin~? (sin x) = x if 272 , which is the principal value branch of
sin~1x.
= [ =
3 272
sin '(sm—)
MNow, 3 can be written as:
sin"[sin 211:J—:‘.in'1 sin[n—sz —sin'[(sinnJ where ﬂe{_“ n}
3 3 3 3 272
. ,(. 21:] . ,(. n:] n
81N SiIn— | =85In Sin— |=—
3 3 3

Free Pdf Download from Exxamm.com

Here,




Question 17:

tan '[tan:)'—nJ
Find the values of 4
Answer
tan '(tan3—ﬂ]
4

F S &

(33
We know that tan™ (tan x) = x if 2 2 , which is the principal value branch of

tan " lx.
3_"E(—_" EJ
4 27 2)

tan '[tan—J
Now, 4 can he written as:

o 5o (o -5
- tan [‘ﬂ‘ [t{;)] Where 1(? 5)

o (o ()5

Question 18:

Here,

(st 3ee'3 )
tan| sin  —4+Ccot  —
Find the values of 5 2
Answer

sin"ézx sinx=§=:>cns_r=1dl—sin:_t=i=:>se!:x=§.
Let 5 . Then, 3 5 4

stanx =+see’ x—1 = ||§_] :%

1

3
SJXx=tlan —
.sin 'iztan 13 (i)
5 4

3 2 .. o1 S
Now, cot' ==tan"' = A1) |:l.an = =cot 'x:|

2 3 x
Henes lnn(cin'l_-L:*nl"iW
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:tan(tzm'éﬂan"%} [Using (i) and (ii)]
. J
3 2
T t+_}'
— tan| tan' 33 [lan 'x+tan ' y = tan "—}
3.2 1-xy
43
( . 9+B)
= {an| tan
12—-6
( _LIT) 17
=tan| tan” — |=—
] O
Question 19:

cos '[cos—]
Find the values of 6 Jis equal to
m St x %
(A) ©(B) 6 (c) 3(D) ©
Answer

E[ﬂ. T

X
We know that cos™* (cos x) = x if

Ly,

In gxe [{}. II].
Here,

cos '[cos—]
Mow, 6 can be written as:
cos '{cns%} = cos 1(1:05%} = cos '[ms[zn—%]] [cos (2n+x) =cos x|
= cos”' |:ccrs 5:] where 5: e[0. n]

_ .[ 7I[J ]( Sn} Sn
scos | cos— |=cos | cos— |=—
6 V] 6

The correct answer is B.

Question 20:

: [:‘t . _,[ ID
sim| ——sin -
Find the values of 3 2 is equal to
1 1 1

(A) 2(B) 3(¢) 4 (D)1
Free Pdf Download from Exxamm.com
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Answer

: l[—lj . -1 LT [—n]
sin | — |=x SINx =—=—sIn—=sIn| — |.
Let 2 . Then, 2 6 6

L. [—:r
sin ' is | —,
2

k2| A3
—

We know that the range of the principal value branch of

G
oG (5l

The correct answer is D.

Miscellaneous Solutions

Question 1:

: [ 13::]
cos | cos—
Find the value of 6

Answer

xe[o0, n]

We know that cos™* (cos x) = x if , which is the principal value branch of cos

1x,

13n

— g0, n].
Here, [ ]
13n

cos '[cns—]
Mow, can be written as:

o oo o o o
o]

Question 2:

T

tan '[tan—nJ
Find the value of 6
Answer
5%
Xe|—, —

We know that tan™" (tan x) = x if 2 2 , which is the principal value branch of

tan 'x.

Tx [ m =)
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6=L 2, 2)

Here,

tan [m_)
Mow, 6 can be written as:
, Tn I Sn
tan”!| tan— | =tan”" | tan 21:—? [tan{Zﬁ—x):—tmuJ

el i O e E
o m()} whm%e[-%@

Sotan

E
S
]
=
=

|
o,

—

%]

]

I
S
I
oA

Question 3:
a3

28in —=tan  —
Prove 3

Answer

Let sin”' 3 =x. Then, sinx ==

5) -3
=cosx=.1-]1=| =—
5 5

£ | e

Slanx =
l3 2 |3 3

X=tan —=sin —=1lan —
5 4

Now, we have:

LHS.=2sin "> =2tan ">
5 4
2,3 .
= tan ' 4 |:2tan x=tan' 2:|
1 [E\_ =&
4)
3 !
| 2 _ -1 3 16
=tan”'| ;Lo |=tan (Zx J
16 J
= tan 2;=R.H*S
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Question 4:

. . 13 477
siInn. — +8In —=tan —
Prove 17 5 36
Answer
Let sin"£=x."[‘hen. sinx=£:>cm*x= 1—[£J = fE=I—:'.
17 17 17 280 17
'I s
Slanx=—=x=tan —
15 15
sosin”! 8 tan™' 8 (1)
17 15
an.lelsin"%;}uThen. ﬁin_}*=3:»msy= ]—[3j =Jﬁ=4.
5 5 5 25 5
3 L3
Slany=—=vy=tan -
Y=a 7 4
sosin” 3 tan™' 3 -(2)
3 4
Now, we have:
L.H.S.=sin'l£+sin'1§
17 5
= tan”' i+mn‘I 3 [Using (1) and (2)]
15 4
8.3
15 4
St e s
=
15 4
:tan'[32+45J tan'x+tan'y=tan'x+y
6024 1-xy
:mn"??:R.HS
36
Question 5:
L4 S, 12 33
cos + cos = COS
Prove 5 13 65
Answer
4 . "3
Let cos §=x.Then. cosx=—=sinx=,{l-| — =§.
3 43
SLlanx=—=x=tan —
A 4
cos' 2 —tan2 (1)
5 4
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12 12 .
Now. letcos ' -~ = y. Then, cosy=-— =siny=-—.
1: 13 13

G125 )

Letcos = ==z. Then, cosz = g:} sin z =E.

65

~.cos™ 33 —tan 20 -(3)
65 33

Now, we will prove that:

L.H.S. = cos 'i_+m3 12
J 13
= tan ‘%Han '% | Using (1) and (2)]

3 5

3, _
412 sy -
| |
412
36420
4815
156
33
.1 36
= tan 'ﬁ [by (3)]
= R.H.S.

= ta

Question 6:

12 .

1 |3_ . 15‘6
COs —+35In E—S]]’I

65

Prove

Answer

Let sin”'

(1)

"
Now, letcos ' — = y. Then, cus_y:l—'::-sinyzi.
13 13 13

S

5 _|
sLtany=—=y=1lan
T IRE 12
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cos 12— tan > .(2)

_ 33
65

Let sin”' 36 _ =. Then, sinz= 26 = COS Z
5 65

c.sin™ 28 = ggn1 36 «(3)

Now, we have:

LHS.=cos' : +sin

[Using (1) and (2)]

—tan' 12 4 tan”' x+tan”' y =tan”' vy
53 1= xy

Prove

Answer

12

Let sin”' i =x. Then, sinx= i = CcosY=—.
13 13

tam:czi:"szt.an"i
12 12

=

. 45 .
—=1 — A1
sin 3 an T (1)

| e

Let cos™' % = y. Then. cos y= % =siny=

. tan '-4::- '-tan'[4

43 4
seos S=tan ' — (2

5 3 ( }
Using (1) and (2), we have

3
R.H.S.=sin"' > +cos '
11 5
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—
m|‘-"
n
K | =
o
L— L I Y

Question 8:

o o1
tan  — 4 tan
Prove

Answer

L.H.S.=tan"%+tan

+tan”'

=tan"[ 1+3 )H
35-1

|1|
23
, 6 a1
' tan” —
17 23
6 11
+
17 23
6 11
I-—x
17 23
133+13?)
391-66

12
'~ +tan

=1an
34

=tan

= tan

Question 9:

. | S 1-x
tan ' Vx = —cos '[—]
Y72 1+ x

| ol -
SHtan™! 2+ tan

] 1
—+tan —+tan

843

{lan" x+tan' y =tan' ﬂ}
1= xy

I
8 4

+

2

11
8
] mn".x+wn"_v=wn

:cE[U. l]

1 X+ ¥

1—xy

|
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Answer

Let x=tan’ @. Then, Vx =tan @ => @ =tan"' Jx.
1- | —tan’

R lan*o =cos20¢
l+x l+tan &

Now, we have:

RHS. =+ cos" [ 7 | = Leos! (cos26) = L %20 = 0 = tan" Jx = LHS.
2 l+x) 2 2

Question 10:

cot™ JI+sinx ++/1-sinx _x xe[(‘.l E)
Prove JI+3in:r—Jl—sin.r T4

2!

Answer

Jl+sinx+«fl—sinx
JI+sinx —1-sinx

(*J'l+sinx+\"'1—si11.74:]1

1

(Viwsinx) —(VI=sinx)

(1+sin x)+(1=sinx) +2,/(1+sin x) (1-sin x)
I+sinx—I+sinx

= 3 IE
_2(I+\|'1—5111 I)_I+cus:_ 2c¢os >

Consider

( by rationalizing )

2sin x sinx 25in£cus£
=col—
S LHS.=cot!| Y1 s L Vi I ot [cot I] =Y ZRHS.
V1+sinx —/1—sinx 2/ 2
Question 11:

== I_x]=g—lcos"x. —Ls.rgl

tan"[
Prove JH' X JI X 2 \6 [Hint: putx = cos 28]

Answer

Put x =cos2& so that # = _IJ cos ' x. Then, we have:
JI+x—=+1-x
Jl+x + Jl—x

L W1+ ¢0s28 —J1-cos 26
V1+cos26 ++1-cos 26

A Jreost A —J2sin g )
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W = wwrar W

o L\/‘?cus €+qu;r; HJ
[J_msﬂ J_smﬂ}

2c05ﬂ+~!’_sm6‘
[cos.{? smiﬁ-‘J _1(1—tm1{?)
= tan
cosf+sind I+tanéd

=tan"' |-tan"' (tan &) [tan"[‘x_y]nan"x-mn-' y}

= E—E} =£—lm5_l X = RHS
4 4 2

Question 12:

s Bk
= —HNT =
Prove & 4 3

gsin'1 —E‘Ji
4 3

Answer

=2[¢05 'l] . (1) [sin ' x+cos 'x=E}
4 3 2

2 s
Now, let cos '%=x. Then, cn-sx:%zninx: ]—(lJ =£.

3
a2 122
3

LX=sinT —— = cos - =sin
3 3

Question 13:

- . -1
solye 21an " (cosx) = tan "' (2cosecx)
Answer

2tan ' (cosx)=tan "' (2cosecx)

= tan'l(lzLSf] =tan”' (2cosecx) |:2tan"x=lar|" 12x‘:|
- CO5” X - X
2cosx
mZZCﬂSECI
2eosx 2

sin“x  sinx

=
M NV Y = KIm Y
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Question 14:

1= 1
tan"'—— = " qan’ x,(x>0)
Solve I+x

Answer

[I_I_]
l+x 2

tan tan ' x

1 xX—y
=tan 'I—tan 'x=—tan 'x tan 'x—tan ' y=tan ' Y
2 1+ xy

Question 15:

sin(tan_l x),

xl <]

Solve is equal to

1 X

X 1
(A) '\“—I: (B) \“—.1'2 (C) '*'.J'|+.l'2 (D) \|'l+.l'z

Answer

. x
fany=x=siny=

Let tan™! x = y. Then, VI+x

S y=sin" [%] = tan 'x =sin”’ [;1]
VI+x? Vi+ar
X

N ]= Jlif

~.sin (tan" x)= sin[sin']
The correct answer is D.

Question 16:

. . n
sin '(I-.\'}-Zsm ‘x==
Solve , then x is equal to
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0, 1
(A)  2(B)

Answer

L ! !
" 2(c)o0(p) 2

sin”' (1-x)~2sin "' x =

SR

——
—

— -2sin” x=~ —sin""! ~x)

2
= -2sin'x=cos ' (1-x) (1)
Letsin 'x=60 =sinf =x= cosf =+1-x".

s @=cos (ﬁ)

~sin' x=cos™ (ﬁ)

Therefore, from equation (1), we have
~2cos '(ﬁ)=cc}5 "(1-x)

Put x = sin y. Then, we have:

~2c¢os ' (Jl —~sin’ y) =cos”' (1-sin y)

= —2cos '(cosy)=cos ' (1-siny)
= -2y=cos ' (1-siny)

= 1-siny =cos(-2y)=cos2y
=1-siny=1-2sin’ y

= 2sin’ y—sin y =0

= sin y(2siny-1)=0

:sin;-:[]c-r%

Sx=0orx=

b3 | —

1

xX=—
But, when 2 , it can be observed that:
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LX==
2is not the solution of the given equation.

Thus, x = 0.

Hence, the correct answer is C.

Question 17:
i (,‘:] i X—_V
fan — |=tan
Solve Y ¥+ Vis equal to
n m T -3n
(A) 2(B). 3(c) 4(p) 4
Answer
g x 4X=Yy
tan '[ ]—tan‘ :
¥ X+ y
X x—y
— v oxX+y _ — g X=¥
=tan~'| — 2 tan” y—tan~ y=tan" 2
1+ xy

()

X(x+y)-y(x-y)
. y(x+y)
y(x+y)+x(x-y)

y(x+y)

tan

f - -
| X FXY=Xy+
o (£23-527)

LAV YV X - Xy

r 2 2

X +v k.
=tan'| —— |=tan '1==

X7+ 4

Hence, the correct answer is C.
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